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FHDIET(E, ZHPADECK D THRD
ZDD/REDHIEITD

age OEN 11LL'F — 500
128l F  — 1800

R (E Tage <= 11] DEDITHED



D Python 7020 = s

age DEN 11LF — 500
128l F  — 1800

age = 18

if age <= 11:
print(500)

else:
print(1800)

ZAR (S Tage <=11] OLDITRD



trinket {

Palebuse Lok

» Trinket (A>T A >D Python, HTML FDOFZFYA b

- BRlOREE EERNOEEEN DD

- BODMERR UTE Python OS5 AZLKU. MDAICSE
FTUTESSIENTIR (2DEE. ESBACETHH

YN
HE

. Python DIEEMIEEZ E3. TOM. ROE 1 —ILA°
)W — A DR =)L

math, matplotlib.pyplot, numpy, operator, processing, pygal,
random, re, string, time, turtle, urllib.request



trinket TOTOT S AZELT {.
e trinket (& Python, HTML IREDT OV S LEZEZTRITCTED
HA1 &

* https://trinket.io/python/0fd59392c8
DELDIC, BDTOTSAICITED URLHEIDH TSNS

# |/ My Trinkets / si1-1 o — \\J;
N
<17, STOP KX~
= ) trinke v | ? Modules

< > mainpy + 12 B Result
1 age =18
2+ if age <= 11:
ppppp (500)

se:
print(18ee)

\/_XYzl_l\\\@ I_'_I/_Y:I:
X A EE EITHE R
s EITAAB LRV ESIE. [RITIRF>] TERIT
« V—RXO— R =zESTBATHERITI DL 6
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@ trinket MIRDNR—>% i <
https://trinket.io/python/0fd59392c8

@ FE1T9 D, 1800 h"FTREINDBZ &= HER

Result

Powered by “Jtrinket
1800


https://trinket.io/python/0fd59392c8

® lage=18] Z [age=10] (CEEEXD

print(1800)

< > mainpy + L [
1 age =10
2~ if age <= 11: FCLARC ]
3 print(500) 00
4~ e:
5
A

@ E1T79 D, 500 MREREND C & =R

ul1csS

Result

Powered by = Ptrinket
500

® age DEH 8, 9, 10, 11 D& E(F 500 (CTRD,
12,13, 14, 15 D EE (S 1800 ([ChrD Z & & HERR
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© o -8 © -0

T age <= 12: 1T age <= 12:

pr int (500) pr int (500)
else: else:

pr int/(1800)] pr int/(1800)]
1800 500

age DEN' 13 ED age DEN 121 F D
ES(FE, #EER(E 1800 ES(E, #ER(E 500
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@ weight EREDEZR(IZIRODED
weight DfEH 100 F — 0
100KDXKEL - 1000
@ weight =80 [CEREUTCT A METT
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trinket D X —<
https://trinket.io/python/62f74d3bfc

Palebuse Zak.

A My Trinkets S11-2

Ptrinket » RrRun v 2 Modules

< > mainpy + & [ || Powered by

(%
1 weight = 80
2~ if weight <= 100:

3 print(0)
4~ else:
BN print(1000)
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c KDL, FEDERMGFICEDWNT, BERDIBREEDZ

CZr]EE(CT D

F— ) — R {EH

» Python DFEERIZE TS, if, else 1R E DA

HDMRBELEE T, 1MIRATFDOFoY hE, 12RULDFo WY

TEEDEVNSDD EE. REDIEZE
EZENTED

LT, Fov MY

int(500) A'E{TEI N5

age = 18
If age <= 11
print(500) age<=11 D & T (X, pr
else:
- Z O THRWE XL, print(1800) BNEITEI N5
print(1800) 14
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D Python 7020 = s

age DEN 11LF — 500
128l F  — 1800

age = 18

if age <= 11:
print(500)

else:
print(1800)

ZAR (S Tage <=11] OLDITRD
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Python Tutor {

Dalehase Zab.

Python 3.6

* Python TUtor &L\iljlj“ﬂ known limitatic
A NEFIBLELS o
http://www.pythontutor.com/ if (x> 20):

print("big”
else:

- Web D S5OY%={FE>Tr7ot grinﬂ”smal

w = s =
ACED for i in [1, 2
S =8+ |
“ print(s)
» PythonTutor Cl&, PythonlJZ
Edit this co

(7T, Java, C,, C++, _—
JavaScript, Ruby I2&, %< o

DITOATS =T EFBZFESN

_ Cl:_j]\‘t“ %5 . < First | | < Prev



http://www.pythontutor.com/

Python Tutor DfER7E

Palebuse Lok

@ F9, DxI IS5 =L
@ Python Tutor ZFJFHI B7z8b(C, LUFD URL (C
70t X

http://www.pythontutor.com/

® [Pythonl Z20Uwv0 = {REBENDFH <

Learn Python, JavaScript, C, C++, and Java

This tool helps you learn Python, JavaScript, C, C++, and Java programming by visualizing code execution.
You can use it to debug your homework assignments and as a supplement to online coding tutorials.

Start coding nofy in Python, JagaScript, C, C++, and Java

Over 15 million people in more than 180 countries have used Python Tutor to visualize over 200

million pieces of code. It is the most widely-used program visualization tool for computing education.

You can also embed these visualizations into any webpage. Here's an example showing recursion in Python:

18




Python Tutor OfREEIEIE {

Frafehuse Lok,

Python debugger - pdb interface to Python Tutor - Learn Python by visualizing code (also debug JavaScript, Java, C, and C++ code)

wnte cove | mmzs <] | Python 3.6] (C71&D> TS

I54%
(O L ZESZRMRIDICENTES)

o . =/ - A3 ~
‘ Visualize Execution ’ ;é,f—_"@ 7?_ &Dd)/ | \9 —
hide exited frames [default] v [Tnline primitives, don't nest objects [default] V]

[draw pointers as arrows [default] V]

Show code examples

[Generate permanent Iink] {

19



Python Tutor TOT OO0 S5 AEAT X
 Python Tutor (& Python IREDITOVS LEEETHRITTED
HAa &~ AFYIRIT. BHOMERFREEDEEN DD,

 Python Tutor@J T YA MZF7O1X. [Python] Zi&EiR
https://www.pythontutor.com/

XA VEMEIC
XA VEET, 777 L5E2 RAICHE B Dl %
e : Edit this code HEH(Z
N Python 3.6 EEE?E\‘T“ % %)
f::jfemd Global frame
x 100

B H 51T Last
ATy 7TEITMHORR

Visualize Execution K X >/



Python Tutor TDIT O S LAEITFIR {

Palebuse Lok

Write code in | Python 3.6 v

Python 3.6

— x = 100
Edit this code
executed
xecute

<< First < Prev Next >
Step 1 of 1

‘ Visualize Execution ‘

(1) [Visualize Execution] Z=72 (2) TLast] #2oUw 2.
Uw O UTCETHE(CIDERD

Python 3.6
(known limitations)

Frames
x = 100
line that just executed

x 100 =) next line to execute

, _ (4) [Edit this code] =72
() HTBREHRTS. 1)\ H CIREEECRS




Python Tutor A _EDFEREAD .

Palebuse Zak.

RTEME T, FAWIS—AVvE—IhHDIIEDHD
BEDSGE= X (CE Y DB,

BEAR(C(E, WAL TR

MR EZ (S [Closel

Python Tutor: Visualize code in Python, JavaScript, C, C++, and Java

Python 3.6
(known limitations) Frames Objects

=1 x =100

[ You just fixed the following error:
Edit this code B k- 100!

line that just executed
== next line to execute

<<First| (< Prev| [Next>) (Last>>) SyntaxError: invalid syntax (<string>, line 1)

Please help us improve this tool with your feedback.

B Step 1 of 1 What misunderstanding do you think caused this error?
Customize visualization ‘ ‘

| Subm@| | Close| Mde all of these pop-ups

22



Python Tutor A _EDFEAQ .

Palebuse Lok

[please wait ... executing] MESE, 1 0FIFEFD.

Python Tutor: Visualize code in Pytht

I Please wait ... your code is running (up to 10 seconds) I
Write di Python 3.6 v

rite code In
1 k - 100

* Python Tutorb‘:E—.:’r"Eb"CM%c‘.‘.%, [Server

Busy - - - | ERRESNDBENHD.
s COXVT—2(F, H—)HSEMUTULWB S EZEIRT.
 BIHSHTFOHEBTUENMAFTSD(II I (L
WU, }ERODNZEDSIRWESEE, BEZES—EiRUT
<IfZEWY) 53




[FrEY DI X]
« Python Tutor
- FTF
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o if

e e|se
« ATV IET

Palebuse Lok
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Palebuse Lok

2Ty TETICEY, Py T OKRFEERE

Python 3.6 Print output (drag lower right

X TD | age = 30
7[(%%%/_7—\’; ) if age <= 12:
3 pr int (500) Frames
%ED ! else:
| r Global frame
- 5 print (1200)

age 30
Edit this code

- EHOED
D Enlb\%fgé

| << First | ‘ < Prev ‘ NEX£> Last >>

Step 3 of 3

2Ty TEITIL.
RV PR TAX—Tay bA—IL

25
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Palebuse Lok

@ Python Tutor Z{EL\ZLNDT, RD URL ZH <

https://www.pythontutor.com/

® [Pythonl] Z0UwD = AL > EHHFH <

Learn Python, JavaScript, C, C++, and Java

This tool helps you learn Python, JavaScript, C, C++, and Java programming by visualizing code execution.
You can use it to debug your homework assignments and as a supplement to online coding tutorials.

Start coding nofy in Python, JagaScript, C, C++, and Java

Over 15 million people in more than 180 countries have used Python Tutor to visualize over 200
million pieces of code. It is the most widely-used program visualization tool for computing education.

You can also embed these visualizations into any webpage. Here's an example showing recursion in Python:

PRI P
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@ Python Tutor I+« A TROTOT
I ANND

age = 18

if age <= 11:
print( 59@)\ if (age <= 11)DERIC [:]

elsese else‘d)l_ﬁ?ﬁlf. H
print(1800)

Ul A W N =

FFIFTHIEREIC |
print DEIIC, [X 7 (Tab)] & 1271F | 27
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1 age = 18 1 age = 18

2 1f age <= 11: 2 1f age <= 11:

3 print(500) 3 print(500)

4 else: 4 else:

5 print(1800) 5 print(1800)
EL<BEWFET ELWFTFIS

[del¥F — | & & EL
ANINSY =SS
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® BHERITI D/2H(C, [Visual Execution] 7&{
OUwD, 2UT lLast] Z0YUw . #55R 1800 "
%EEDID\

Python 3.6 Print output (drag lower right corner to
known limitations 1800

age = 18

if age <= 11: Frames Objects

print (500)

else: Global frame
print (1800) age 18

Edit this code

acuted
e EEESN)

11800] 7= HERY
[<< First] [< Prev] Next >

Done running (3 steps)
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©T0OU S ARITZRVDITICR I IRF
[First] Z70Uwv2OULT, BHIDITICEY

Python 3.6
known limitations

age = 18
I age <= 11:
print (500)
else:
print (1800)

Edit this code

executed
xecute

Prev | | Next > Last >>
Done running (3 steps) 30
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@ [Step 1 0of 3] &EFRRSNTLDDT,
2EC, ATYVIHI3HBIZENTMID
(R T E, TO0SLDITEITES HD)

Python 3.6
known limitations

=) | age = 18
i age <= 11:
print (500)
else:
print (1800)

Edit this code

ecuted
cute

<< First | | < Prev | Next > | Last >> |
Step 1 of 3 31



® AFYVIERFTUIELDT, [Next] 2w {
IURNS, REIDEN = TR, o

X [Next] RY>=MEEMNMNMIUvIOL, ENLL
ESDHIRLIEDZBRT

Python 3.6
known limitations
age = 18
. — if age <= 11:
%&;5 irint(SOO)
21-.|'Eb\‘5 ShE/\ else:
SV 9FBDECA - or int (1800)
Edit this code
xecuted
acute

<< First | | < PreLast >>
Step 30 3 2



© First, Prev, Next, Last 7|'§/9><‘:7\5/|’9“—(Cck¥5
KDTOTSLFTZHIEL THD e

Python 3.6
known limitations

age = 18
— I age <= 11:
print (500)
else:
print (1800)

Edit this code

line that just executed
=) next line to execute

Step 2 of 3




1i7HZ, RDOLKLSIC [age =101
WXTC, WEFTEHRULZEZITD

Python 3.6 Print output (drac
known limitations 500

%CEZB o age = 10
3175-6;1773‘&*5 It age <= 11: Frames
print (500)
else:
print (1800) age 10

Global frame

Edit this code

line that just executed
=) next line to execute

<< First | | < Prev |

34



@D A1 > BEEICREDICIE. [Edit this code] %‘:é;
w7

Python 3.6 Print output (drac
known limitations 500
age = 10
I age <= 11: Frames
print (500)
else: Global frame

print (1800) age 10

Edit this code
line that just executed

= next line to execute

<< First | | < Prev |

Done running (3 steps)
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QA E1—ATDI OV S LETIE, BEET
HEXR

BEETCE. TOVSAIR. BIHDSREET—EICE
TSND. EHROZHDIEZEERT B(C(S print ‘2 RXFT WV T
EiTZERHULD,

@27'029 5 LADiFh ol

&N (if 78 L) TE. WHEDSDOHRITEND. &
BERITEEERD. JOJSLDORNMFIHEEIND,
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GEREFE. TOYSAERRNDSEEET—ECEST
D

« AFYVTERFE. TOYSLAZE LIFFDORFTL. BTHEIC
TO5S5 AE—BEILT 3. TO5S5AOEEEMEH < E
HC=3.

. REDET(F. THEORDEICL> THRENZED B ED
YEEETS, E88 (age) B1IMTFTHNE500%. &N
BlETHNE1800% AT R E NS IES. &R

lage <= 11] &£71835,
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